Intermediate Level Exercises Answers Key

Thérése Raquin
EMILE ZOLA

Words From the Story 1

2 | niece 14 | lovers

3 |invalid 15 | murder
4 | husband 16 | drowned
5 | drapers 17 | suspected
6 | dominoes 18 | morgue
7 |retired 19 | artist

8 | clerk 20 | studio

9 | colleague 21 | stroke
10 | guest 22 | wife

11 | ignore 23 | ghost

12 | portrait 24 | helpless
13 | corpse 25 | kindness

Making Sentences 1

1 | Thérése went down to the river.

2 | She looked like a cat who is waiting to catch a mouse.

3 | The work was boring but Camille was too stupid to be bored.

4 | Many people went past the shop but few customers came inside.

5 | The Raquins had never met an artist before.

6 | There was a back entrance to the Raquins’ apartment from an alley.

7 | Laurent made an excuse to get away from the office.

8 | Thérése told Madame Raquin that she needed to lie down in her room.

9 | No one thought that Camille had been murdered.

10 | Laurent began to have bad dreams because of his visits to the morgue.

Story Outline

2 found 3signed 4 corpse 5 building 6 relation 7 horrible 8 blocks 9 glass 10 slowly
11 carefully 12 visits 13 night 14 heart 15 looking 16 sight 17 smooth 18 skin
19 wounds 20 smiling
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Intermediate Level Exercises Answers Key

Words From the Story 2

Clues Across 1A drown 3A brandy 6A counter 9A escape 10A fists 11A crime 14A sickly
15A twisted 18A brutal 19A suffer 23A sew 25A easel 26A omnibus 29A spiral 30A curl
31A grave 34A headache 36A deceive 38A alley 39A serve 40A tabby

Clues Down 2D revenge 3D brave 4D nod 5D poison 7D fault 8D violets 12D models
13D accuse 14D stiff 16D pave 17D selfish 20D unsolved 21D faint 22D recognize

23D share 24D wool 27D lazy 28D weak 30D cracked 32D bank 33D treat 34D hire
35D rent 37D cab

Making Sentences 2

Q1 | How old were Thérése and Camille at the start of the story?

Q2 | Why did they move to Paris?

Q3 | How much did Camille earn in the railway office?

Q4 | Why didn't Madame Raquin recognize Laurent?

Q5 | How did Thérése feel about working in the drapers shop?

Q6 | Which day did the Raquins have guests?

Q7 | What game did they play?

Q8 | Why did Thérese take no notice of Laurent?

Q9 | Why did Laurent come up the back stairs to Thérése's room?

Q10| Why couldn’t Laurent marry Thérése?

Multiple Choice

2a 3d 4c 5a 6b 7a 8c 9d 10c 11d 12b
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